EAGRAROBREERT — 2 N— ABISH —F 2020118258 (k) 18E&EE2H

AR =& [4%8) C15 H5%—f% ‘[fﬂi] W ‘[%iﬂ%lasﬁl] — | & (&) 16000 B
[AE4£] 17 :340,000  ~ 23#&:109,000 3#&:61,000H  4#&:41,0008”  53&:27,000 ™
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
5 4 3 | MR 1:46.1 1-1-1-1 | 40.4| — 9 481 | ETIB—5 (BHE)
11811 3%¥F7 54.0 [ (Ca) |BREEA
R:d—ILRAqO— B:O>JE=— ERES
S s 3 | ABEBE 1:46.6 4-4-4-3 | 40.3| — 1 426 | RE=EXR (BHE)
2|8[10| BETTL v 2 54.0 (@ 172) Cy | 2mRE
LIZART—WYF— B4 4a—-<)—> 7Y e s
SFESNINGTSN 3 | =Tk 1:46.7 7-5-5-4 | 39.7| — 2 463 | IE% (BHE)
35| 5| AXHARLE b 3 20 i Cpy | At
RZAZNTIZy IR BAXANT I — ke
== o3 | AMEHE 1:47.0 3-3-32 |41.0| — 3 445 | FEBZ (BHE)
46| ¥771UF 56.0 (1 1/2) ) | B
R:EATAT v — BiYraO—X T BAE
N HNAERE— 147, -9-9- . — SigtEy (BHE)
51708l 7MATH 1 b ) LS At O | e
L:IET7XAT7 B:IXTU KXY (B) HAEa-KL—-ra>aEr7r
4t 3 | A L3 1:47.8 6-7-7-6 | 40.3| — 8 490 |BHF (BHE)
Y 6 AR A 540 ) © | MR
R:Z27)—>kb—A— B:HAIRK/H = &S
o= . > FFITE : -10-10- - THER (BHE)
W 4 ST ATAY R >3 AA 1(.3%9 10-10-10-9 | 39.8 10 <4+916) %Eim
A:Paddy 0’Prado B:X&—<L A > Winchester Farm
N . FLE— : -11-11- = Bt (BHE)
N . BEEEEVES 4 3 Al (11.418/.22) 11-11-11-10 39.7 7 (4_834) EEE;E
L:b—trkhvLARY B:SAMIUL Eite]
- o 4 3 | RFIRFWAER 1:48.7 8-8-8-7 |40.9| — 11 463 | ZHERE (BEHE)
9f7|9 | FTLTUNY 5.0 2 1/2) s | B Bz
R:/GrUXN BiR—2 by T—F%— Blite
R _ AR .49, _0_o_ . — AEED (BHE)
T > BIR2 A A A R ‘;'3?)3 BEED | B 4 f_‘g ) JU—>7r—i
RYTINA LT N BFELII—F— J—H T — L
B 43 | BHRA 1:50.1 5-6-6-11 | 42.7| — 5 470 | RBER (BEHE)
111 ¥F7>a 56.0 ) @) | (@) S>=2T 555K
a2/ XLLy b BivY/vu—F LK BA
® 1 —F—EBIERL
13—7+— 11,2,6,10,1,7,5,9,8,4,3
20—F— 11,2,6,10,5,1,7,9,8,4,3
BEE 11,2,6,10,5,1,7,9,8,4,3
43—F— 11,6,10,5,2,7,9,8,4,3,1
[ N3
B O 1 10,130M 714K 10-11 1,320H 7 E 8-8 4,420 3JEHE 5-10-11 4,850
8 B 1 790M 5-11 3,570 B = 10-11 5,240M K31 11-10-5 148,010
10 110 5-10 210 B H 11-10 22,590
5 170

ARICOVWTRDTEEERROODE. TR LI,



